
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Hinweise zu… 
 
…Aufgabe 1: 
 

RL1 = 
A

V

4,0

6
= 15;    RL2 = 

A

V

1,0

6
= 60;      Gesamtwiderstand:  75 

 

Stromstärke im Stromkreis:   I = 
75

6V
;  I = 0,1 A;  Es brennt also nur  L2! 

 
 
…Aufgabe 3: 

 

 

 

 

 

 

Andere Rechenmöglichkeit: 

R1 = 
A

V

4,0

6
 

 

6V; 0,4A 

Ug = 24,0 V 

R2 = ? 

U2 = 18 V 

+ - 

U1 = 6 V 


